IS

~

10.
11.
12.

13.

14.

15.

16.
17.
18.

19.
20.

Super Saver Seat Kit Installation Instructions

Yamaha G14-G22

Remove canopy top. If reinstalling canopy top, keep front installed and prop rear of top; save

hardware.
Remove front seat back cushions; save hardware.
Remove access panel.

Remove bag rack/sweater basket assembly; save hardware.

Remove rear bumper.

Install Footplate using (2) M10x25 bolts with (2) washers up through the bumper mounting

holes.

Install Vertical Support Brackets to Footplate using (2) M10x40 bolts with washers and nuts.

Attach Front Seat Back Support Posts using hardware from Step 4.

Re-install access panel.
Set Flip Frame in place.

Attach Flip Frame to Vertical Support Brackets using (2) M10x25 bolts with washers and nuts.
Attach Flip Frame to Front Seat Back Support Posts using (2) M10x40 bolts with washers and

nuts.

Attach Rear Seat Back Support Brackets to Flip Frame using (2) M10x25 bolts with (2)

washers.

Attach Rear Seat Back Support Brackets to Front Seat Back Support Brackets using (2)

M10x40 bolts with washers and nuts.

Attach Handrails to Flip Frame using (4) M10x45 Phillips truss head bolts with (4) washers

and nuts making sure the heads of the bolts are on the inside to allow for the “Flip”.

Attach Handrails to Footplate using (2) M10x65 bolts with washers and nuts.

Attach front seat back cushion to Front Seat Back Support Posts using hardware from Step 2.

Attach Rear Seat Back Cushion to Rear Seat Back Brackets using (4) M6x25 bolts with

washers.

Attach Rear Seat Bottom Cushion using (8) M5.5x30 wood screws.

Install the Pull Strap using (1) M5.5x30 wood screw through the pre-drilled hole in the center

of the plastic deck.

Bill of Material

(1) Footplate

(2) Vertical Support Brackets

(1) Flip Frame

(2) Front Seat Back Support Posts
(2) Rear Seat Back Support Brackets
(2) Handrails

(1) Rear Seat Back Cushion

(1) Rear Seat Bottom Cushion

(1) Box of Hardware & Pull Strap

Box of Hardware Bag #1 | Bag #2

Bag #3

Bag #4

Bag #5

Bag #6

M10-1.5x25 shoulder hex bolts 6

M10-1.5x40 shoulder hex bolts 6

M10-1.5x45 Phillips truss head bolts

M10-1.5x65 shoulder hex bolts

M10 Washers 12 12

M10-1.5 nyloc nuts 6 6

NN

M6-1x25 shoulder hex bolts

M6 Washers

M5.5x30 wood screws

Super Saver Seat Kits — Yamaha G14-G22

Page 1 of 1

8/3/2012



